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5898 B | 1000 ~ 1200 L= 110\ WS4 &
58168 B | 1000 ~ 1200 BNE 11\ s e
58228 | + | 1500 ~ 17:00 B NE 11\ MG =%
58238 B | 1000 ~ 1200 BDE 11\ B =%
58208 | + | 1500 ~ 17:00 &= RAEE WSS =%
58308 B | 1000 ~ 1200 &= AREEE RS e
6858 + | 1800 ~ 1700 B NE 11\ MG Ean
68608 B | 1000 ~ 1200 BNE 11\ RS e
68138 B | 1000 ~ 1200 G ES 1.288= WS4 &
68198 | + | 1500 ~ 1700 BHHE 11\ WS4 =%
68208 B | 1000 ~ 1200 G ES 11\ WSS =%
. . ~ S
68278 B | 1000 ~ 1200 &% 11\ \WEBsEE (with Biano)
7848 B | 1000 ~ 1200 G ES 11\ B Se4E En
78108 | £ | 1500 ~ 1700 BHHE 11\ IS4 e
78118 B | 1000 ~ 1200 ZNE= 11\ WS =%
78178 | £ | 1330 ~ 1700 &= 11\ e
EHE ==ym
78188 B | 1830 ~ 1700 = 11\ (Wit pano)
78248 | + BB RIKM
78258 B | 1000 ~ 1200 = 11\ WS B
78318 | + BERRH (WEZXIVI—ILOED)
8818 = BERRH (WEZIVT—ILOED)
8888 B | 1000 ~ 1200 &= AREFE WSS =%
88148 | + | 1330 ~ 1700 &= AREEE e
- st ==
88158 B | 1000 ~ 1200 5= AREFE (with piano)
88218 | £ | 1500 ~ 1700 B NE 11\ B 5e4E e
88228 B | 1000 ~ 1200 L= 11J/\ WS4 b=
1300 ~ 1500 &= Aiv—)U e
8g288 | + et ==
1510 ~ 1700 5= AI—JL (with o)
88298 = PDE200EHEER D
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